ITEM NUMBER ‘385M%(D)'|EL
BBL ITEM MATL | QTY ITEM
NO. DESCRIPTION LENGTH | WIDTH | WETGHT |cope |reqD| — NO. NAME
[[ANGLE- . 10X1.50X1.50X 13.25 13.250 2.810 0.334|BB2 31385287 P15C0410
2[BAR-FLAT 1.00X.12X 7.00 1.000 0.239|B12 21385241 38524
3INUT-HEX .25 P 0.007|E1I [T7]1378 1378
4INUT-HEX M8 x 1.25 SST 0.011]EI 41820637 820637
S|INUT-UNISTRUT W/0 SPRING .38-16 0.086|C4 821802807 802807
6[PIPE STOP SHEET 16.000 8.810 |.311[BB? 21385304 P15C0435
TISCREW-CARRIAGE 25X .75 0.018|E0 I 711430 1430
8|SCREW-HEX M8-1.25x40MM SST 0.048|E0 91820664 820664
9| SCREW-HEX . 38X .75 GRS 0.750 0.043|E0 82802804 802804
[O[SHELF-TOP 18"x46.88" 46 815 18.000 [0.732|BB?2 11385302 P15C0427
Il |SHELF-TOP 18"x76.38" 76.375) 18.000 I7.126|BB?2 11385303 P15C0428
| 2[SHELF-TRAY 18"x24" 24 000 18.000 5.183|BB2 121385296 P15C0418
| 3{SHELF-TRAY 18"x46" 46.000] 18.000 9.633|BB2 613852917 P15C0419
[4]UNITSTRUT ASM-DOUBLE 9.386|ZA 21385288 385288
[S{UNISTRUT ASM-SINGLE 6.188|ZA 21385289 385289
16 |WASHER-FLAT .38 D-SHAPED 0.007|E? 87816154 816154
| TI{WASHER-FLAT M8 SST 0.007]E2 81820670 820670
I8|WASHER-LOCK .25 0.002|E? [T]1372 1372
| 9[WASHER-LOCK M8 SST 0.004|E2 91820638 820638
1241
A= B=7 REF . (= r 3.25
P\u l ; ‘,l ; l ? .
(1) (1) (1)
\ \ \
\ \ \
| | |
; | 1 60.50
| | | d 1
~— 24.00 { — 46.00 24,00 —=]
FROM VAN ‘ ‘ ‘ VAN SIDE
CORNER POST \ | | | WAL AT
SURFACE ¢ - - ' =
615 A= g = c= 5.00
97.6 REF.
AT FLOOR LEVEL
TRANSIT | 197,181 [assmeanna] QW VT Hack Hackney
RFU‘H’\N‘GAL WATC CODE .xx:+/7 060 7“‘§ ac nw
VIEWED FROM AISLE TTEN WO SHAPE DESC L XXX=+/-.03 A company of VT Systems Kuﬂn
385301
RAW_WATC RS vy
0.000 DESCRIPTION | vthackney.com hackneyz.fnzmmiigiﬁcom Vtvisi mm“isioncomnls
DRAWN BY DATE
THEREON. ARE TAE PROPERTY OF T RACKNES AND. 15 LOAKED LCS | 1_APR | 3/SHELF ASM- DRIVERSIDE FORD TRANSIT SHELF
T0 THE RECIPIENT SUBJECT TO RETURN UPON DEMAND. APPROVED B TATE OPTION “TDI
(‘)gssﬁgm%?gg #(R)EOE%F\‘DEEgXF‘iﬁL\EéNEOgUigENgg EiA;?U%?ON UPERSEDE UPERSEDED BY CALCE WG WAWE
COPYRIGHT 2015 VT HACKNEY A COMPANY OF VT SYSTEMS Trev REVISION DESCIPTION ECN DATE  [INITIALS 0.085 P15C0422 Sheet 1 of 4




5.50

-
5.50

C
5.50

C
8.00

C
8.00

-
8.00

C
20.00

SECTION A-A

5.50 5.50
C C l
5.50 5.50
C C J
5.50 5.50
- - J
8.00 8.00
C C “
8.00 8.00
C C i
8.00 8.00
C C J
20.00 20.00
- CTNUF?BENS I WEiG%H 18] TOLERANCE UNLE557 Q‘"
SECTION B-B TRA] 9T OTHERi\SE SPECITIED S @EVT Hﬁckn Hm
\FTEL '\NIOAL SHAPE DESC ..XXXxXiiJrJr//i .00630 4‘]\% A company of VT Systems
;?W'SMSAT:E)O ‘ RS 252-946-6521
— D”EO .000 DESCRIPTION | vthackney.com hackney.com kidroncom  vtvisi rnm“isioncﬂmlﬂs
LCS 20-Nov-| ||SHELF ASM.- DRIVERSIDE FORD TRANSIT SHELF

APPROVED BY

DATE

OPTION “TDY"

TPERSEDE

UPERSEDED BY

CALE DWG NANE

0.200

P15C0422 Sheet 2 of 4




TYP. SHELF HARDWARE

DETAIL C
SCALE  0.800

DETAIL A

SCALE 0.500

CNUMBER

LLLLLLLLLLLLLLL

T R A N S ‘ T OTHERWISE SPECIFIED s"’»‘ "m

FINAL =060 TG VT Hackn&v

TTEN WO L XXX=+/-.03 A company of VT Systems

0 (Kiskcoo |

FAT-NATC 252-946-6521 ..
DESCRIPTION | vthackney.com hackney.com kidroncom vtvisk mm“|3|°n(:om|ns

cs SHELF ASM- DRIVERSIDE FORD TRANSIT SHELF

APPROVED BY

OPTION “TDY"

tttttttt

CALE

0.125

DWG NANE

P15C0422 Sheet 3 of 4




SEE DETAIL B
DETAIL B
SCALE 1.000

DETAIL

DETAIL D
SCALE  0.500
TYPICAL BOLT

THRU FLOOR

CNUMBER WETGHT

TRANSIT | 197,181 |otwthnse swicifioo 1§W4L ‘IFI. Ii I(‘ Hackney
e | s V1 HAckney

TTEM WO SHAPE DESC L XXX=+/-.03 A company of VT Systems
385301

RAW_WATT RS 252-946-6521

0.000 DESCRIPTION | vthackney.com hackney.com kidroncom  vtvisi “"'““isioncom“‘s
s 29 -Noy- | ||SHELF ASM.- DRIVERSIDE FORD TRANSIT SHELF
KPPROVED BY DATE OPTION “TD1”

0.125 P15C0422 Sheet 4 of 4




